Infinitiv se pouziva také po who, what, where, how, whether a slovesech jako know, explain, Také infinitiv a gerundium maji trpny tvar, a to pfitomny i minuly:
wonder, napf.: Can you explain how to do it? Mizes mi vysvétlit, jak to udélat? She doesn’t know

what to do. Nevi, co délat. pfitomny minuly
Infinitiv se timto zpGsobem nepouzivd po why. infinitiv to be made to have been made
{g gerundium being made having been made
ALE
She didn’t want to be seen. Nechtéla, aby ji nékdo vidél.
Why /not/ + infinitiv He was afraid of being asked that question.  Bal se, Ze se ho na to zeptaji.
Castou chybou je uzivani édstice o v této vazbé, kterd v kladném tvaru vyjadiuje Gzas, Na rozdil od cestiny se v anglictiné miize podmétem pasivni véty stat i pfedmét ve 3. pade,
prekvapeni, v zdporném tvaru navrh. nejen ve 4. padé jako v cesdtiné.
Studenti ¢asto zapominaji, e po tazacim pfislovci why stoji v uvedenych vétach infinitiv bez fo.
Z kladné otazky vyplyvd, Ze zminéné pocindni neni nutné, nékdy dokonce Ze nemd smysl. They told the whole story to us. The whole story was told to us.
Why put it there? Proc to tam ddvat? They told us the whole story. We were told the whole story.

Zdpornd otdzka vyjadfuje navrh.

Why not go to Scotland this year? Proc nejet letos do Skotska? 1. Vyberte spravnou odpoved

Ziapornou otdzku vyjadfujici ndvrh /suggestion/ |ze formulovat i jinak.

Why don’t we go to Scotland this year? Pro¢ bychom nejeli letos do Skotska? 1. Ms. Carpenter ............. at the Blue Company.
Co tak abychom jeli letos do Skotska? A. is employing B. employed C. employing D. is employed

2. Something funny ............. in class yesterday.
A. happened B. was happened C. happens D. is happened

3. Today, many serious children diseases ............. by early immunization.

i A. are preventing B. can prevent C. prevent D. can be prevented
TRPNY ROD /PASSIVE VOICE/ 2. 1Y [JS— with you on that subject.

A. am agree B. am agreed C. agreeing D. agree

5. Vitamin C .... by the human body. It gets into the blood stream quickly.

A. absorbs easily B. is easily absorbing C. is easily absorbed D. absorbed easily

.

6. "When can | have my bicycle back?"
Trpny rod se v angliéting tvofi ve viech asech kromé predpfitomného pribshového a budouciho "I think it'll ... .. late this afternoon.”
pribéhového €asu z pomocného slovesa to be a minulého participia vyznamového slovesa: A. finish B. be finished C. have finished D. be finish
7. Peter was new on the job, but he quickly fit himself into the ............ outline of the office.
Pfitomny prosty: It is made. /vysledek/ A. established B. establishing C. establishes D. establish
Piitomny pribéhovy: It is being made. Ted se to pravé déld. faktudlni déj v té situaci/ 8. Johnis ..o Jane.
Minuly prosty: It was made. A. marry with B. marry to C. married with D. married to
Minuly pribéhovy: It was being made. Pravé se to délalo. 9. "Can’t we do something about the situation?"
Pfedpiitomny prosty: It has been made. "Something ............ right now."
Budouci prosty: It will be made. A. is doing B. is done C. is being done D. has been doing
It is going to be made. 10. "How did that window ............... 2"
"I don’t know."
Predbudouci: It will have been made. A. get broken B. broke C. got broken D. broken
Pfitomny podmifiovaci: It would be made.
Minuly podmifovac: It would have been made.
Trpny rod s modalnimi slovesy: ‘ 2. Prevedte ndsledujici véty do trpného rodu, zacnéte vétu slovem, které je vytisténo silné
Must 1. It is expected that the government will raise the price of telephone calls in the
Pritomny: it must be made near future.
Minuly: it had to be made 2. Itis said that he knows all the answers.
it didn’t have to be made 3. It is believed that the accused man committed the crime.
Budouci: it will have to be made 4. It was believed that the disaster had been caused by an earthquake.
5. It is admitted that the information was contradictory.
can/could/may/might be made 6. They gave me a week to make up my mind.
7. Someone showed her how to operate the machine.
8. They allowed prisoners only half an hour to see their relatives.
V priibéhovém tvaru md angli¢tina trpny rod pouze v piitomném case - it is being made, we are 9. Somebody will tell us how to find our way.
being watched /jsme pozorovdni/ a v ¢ase minulém - it was being made. 10. I'll send you detailed information.
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3. Dejte véty do trpného rodu, vynechejte slova v zdvorce

. /They/ murdered him during the ceremony.

. /The regulations/ forbid students to miss classes.

. /People/ admire great champions.

. /People/ should keep medicines out of children’s reach.
. /They/ publish a report every three months.

. /People/ are discussing this situation.

. /People/ have done the same things for centuries.

. /People/ are constantly repeating such things.

. /They/ won't disappoint you.

. /They/ will tell me the truth.
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4. Prelozte, pouzijte trpny rod v rtiznych gramatickych ¢asech

. Tento film davaji kazdy rok o vanocich.

. Matematika se u¢i na kazdé stfednf skole v této zemi.
. Fotbal se hraje na celém svété.

. Ta mistnost se uklizi kazdy den.

. Tady se mluvi anglicky.

. Ne, tady se nedaji koupit listky na tramvaj.

. Tento kol se musi udélat do konce tydne.

. Do divadla by se nemélo brdt jidlo.

- Ameriku objevil Kolumbus.

. Bylo mi feceno, ze odjel.

. Zlodéj byl chycen, kdyz bral penize z penézenky.

. U zkousky mi dali mnoho otazek.

. Jak se rozhilo to okno?

. Kdy byla vynalezena zadrovka?

. Ten film se bude ddvat pfisti patek.

. Pisti rok bude vydan jeji prvni roman.

. Tento romdn je pielozen do deseti jazykd.

. N&s ddim znicil ohen.

. Davali tento film nékdy v televizi?

. V&era nebyl na tom vecirku, protoze nebyl pozvdn.
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